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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 camry 2 marks each. For each
question, four options are given. One of them is the correct answer. Make your choice
(1. 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet. - [20 marks]

1. Round off 58.256 to the nearest tenth.

(1) 58

(2) 582
(3) 583
(4) 5826

2. Which one of the following has the same value as 1—3?

H  Ax3.
(1) ¢
) Pra
) y
3 1+
@) 1+
g, o g il
o F+= _

3 What is the length of the paper clip in the figure below?

@  24em ( ;ﬁ } .
i o [T
( ‘ 2 3 em 4 5

(4) 48cm
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The figure below shows an 8-point compass. John was facing north-west at first.
He then tumed 225° anti-clockwise. Which direction is he facing now? '

NW 4 NE

SwW
(1) North (N)
(2)  South (S)
(3) East(®)
(4)  West (W)

Express 12 km 80 m in melres.

(1) 128m
(2) 1280 m
(3) 12080m

(4) 12800m

Which of the following fractions is closest to 2?

5
(1) 3

(2) 1%
(3) 2%
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f. Simplify 11m+10—-5m - 5 + 2m.

(1) 8m-5
(2)- | 8m+5
Q) #-Bm +5
4)  4am+5

8. Cheryl and Kenny shared some marbles-VCheryI had 3;— the number of marbles

Kenny had. What was the ratio of the number of marbles Cheryl had to the
number of marbles Kenny had to the total rmmbeﬁ)f marbles they had?

() 2:8-5
2 2:5:7
3) 5:2:7
@) 7:5:2

9. The pie chart below shows the various modes of fransportation used by a group
of pupils to go to school every day. What percentage of the pupils go to school

by car?
(1) 20%

(2)  25%

(3)  30%

@) 35%
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10.

11.

The distance around a running track is 400 m. Ali took 10 minutes to walk around

the running track twice.What was Ali's average walking speed?

(1) 0.025 m/min

(2)  0.05 m/min

(3) 40 m/min
(4) 80 m/min

The figure below shows an equilateral triangle XYZ and a straight line AB.

Find £p.

(1y 28°

(2) 44 -
3) 80

@y e
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12. The figure shows a circle inside a square. Find the area of the unshaded part

(Take 71':%2—)

(U8 2ai
(2) 44cm®*
3)  152cm?
4) 154cm’

13. Mrs Lee had 1% kg of sugar. She bought another % kg of sugar. She packed all

the sugar equally into bags of %kg each. How many bags of sugar did she

have?
(1) 5 s
(2) 2 |

(3) 11

. (4) 23
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14.

15.

A rectangular tank was half-filled with water. When 4.5 { of water was added,

it became g full. What was the height of the tank if its base area was 500 cm??

(1)

@

(3)
)

8 cm

24 cm
3 cm

30 cm

There was a group of 80 pupils in the hall. 40% of them were girls. When some
more girls joined the grb‘up, the percentage of boys decreased to 20%. How
many pupils were there in the end?

N
(2)
3

4

96
160
192

240

End of Booklet A
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Questions 16 to 25 camry 1 mark each. Wiite your answers in the spaces provided. For
questions which require units, give your answers in the units stated. (10 marks)

16. Use all the digits below to form the smailest mu!hp!e of 5.

67305

Ané :
. .3
17. Find the value of 6 = ﬁ
Ans :
18. Find the value of 0.609 x 80.
Ans :

19. Jane is standing in a queue. She isihe’#”‘ person from the front and
the ?7_”' person from the baék. Howmahy people are there in the queue?

Ans :
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20.  The solid below is made up of 1-cm cubes. What is the volume of the solid?

21.  The figure below is made up of a quadrant and a rectangle, OPQR. Find the

penmeter of rectangle OPQR.
4
8 cm
H Q
Scm
O sz_-A cm

Ans : cm

22. Tim spent 50 minutes doing his homework before he took a 30-minute break He
then continued with his homework and completed it 30 minutes later. At what
time did he start do;ng his homewod( if he completed his homework at 18 307

Express your answer using. the 24-hour c{ock-

Ans:
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23. . The total height of 4 children is 546 cm. One of the children is 150 cm tall.
What is the average height of the other 3 children?

Ans: cm

24.  There are 40 members in a sailing club. There are 8 more male members than -

female members What percentage of the members are female?

Ans : %
25, The figure below shows 14 shaded squares. Shade 2 more squares to complete the
figure so that the dotied line AB is a line of symmetry.
P ~==B
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Questions 26 to 30 camy 2 marks each. Show your working clearly in the space

provided for each question and write your answers in the spaces provided. For

questions which require units, give your answefs in the units stated. {10 marks)
26. There are some cows and goats on a fam. % of the number of cows is equal to
7

= of the number of goats. There are 34 more cows than goats. How many

goats are there on the farm?

Ans

27.  Inthe figure below, XYZ is a right-angled triangle. Find the shaded area.

20cm

Ans : om?
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28. In the figure below, ABCD is a rhombus. ~/ ABC =:362%and .~ CAE = 19°.

Find £ EAB.

29 The pattem .in the box below shows part of a tessellation. Extend the

tessellation by drawing two more unit shapes in the space provided within the

box. . ; @

1ol
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. The table below shows the registration fee for the various _categoriés in a
running competition.

_Categgfy AN | Repgitﬂzz ;ee
P Dash T

5-km Run | $50
10-km Run $60

Mr Tan and: his family participated inthe competition. ‘He and his wife
sarticipated in the 10-km and 5-km Ruri respectively. His two children
participated in the Kids’ Dash. How much did Mr Tan pay for each child
if the average cost of registration for his family was $42.567

Ans: §

End of Paper







StNrﬂWsPrmy StJosephslnsthbmenor St_SlE,Jhen'sdeOI

CHR!STIAN BROTHERS' SCHOOLS

PREL!MINARY EXAP.‘HNAT[ON
2015
PRIMARY 6
MATHEMATICS
PAPER 2
NAME: . ( )
CLASS: : St 6
18 Questions Time : 1 h 40 min
60 Marks ;|
Instructions to candidates

Do not open this booklet until you are told to do so.
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space provided for
each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. =~~~ (10 ma‘rks)

All cupcakes at $2 each

Buy 8 and get 1 free!

Janie .paid $80 for some cupcakes. How many cupcakes did she get?

Ans:

2 Mrs Lee had a bottle of oil. She used an equal amount of oil each day.
Atthe end of the 8™ day, she had i— of the oil left. At the end of the 10” day,

she had 110 m! of oil left. What was the amount of il in the bottle at first?

Ans:
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B The fagure below is not drawn to scale. PQR is an isosceles triangle.

PR8I tS a stralght ine. YPRO = 70%and ZTRS = 80°.

Find ihe ‘sum of za, Zb and B

Ans:

4. The ratio of the amount of money Alice had to the amount of money Bobby had was

g - 16. After Alice gave $8 to Bobby, the ratio of the amount of money she had to the

amount.of money Bobby had was 1 - 4. How much did Alice have at first?
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B. The bar graph below shows the number of handphones sold over a 6-month period in
~ ashop. ' = '

, Ndm,ber of handphones sold

Number of handphones

n which month did the shop sell 20% of the total number of handph[)nes’?
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For questions 6 to 18 show your wor}ong clearly in the space provided for each question
and write your answers in the spaces prov;ded The nurnber of marks avarlabte is shown in

brackets [ Jattheend of each question or pad—questlon (50 marks)

6.  The total age of Linda, Patrick and Don is 15p years. Linda is 3 years old.
Patrick is three times as old as Don.

(a) Express Don’s age in terms of p.

(b) If p=5, how old is Patrick?

Ans: (a) 1}

(b).- B

7 A wall needs to be painted. Worker A alone takes 8 hours and Worker B alone takes
12 hours to paint the whole wall. If both workers paint the wall together for 3 hours,

what fraction of the wall will be painted? Leave your answer in its simplest form.

Ans: {3}
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8. A container was completely filled with water. Some water in the container was
drained uSing.'a tap at the bottom of the container. After 30 minutes, the tap was then

-tumed off.

The line graph shows the volume of water in the container over 30 minutes.

200

160

Volume of 49g

water in the
container
(litres) 80
40
0 5 10 15 20 25 30
Time {min)

(a) How many litres of water flowed out of the container in ane minute?
(b) The tap was tumed on again to drain water from the container at the same rate

as before. How many more minutes did it take for the container to be empty?

Ars: (a)

g

(b). 2]
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g A van left Town A for Town B at 16 00 and travelled at an average speed of 55 km/h.
At 13 00, a car left qug}\ for Town B. If the car took 2 h to catch up with the van,

find the average speed of the car.

Ans [3]

10.  Sophia gets $5 pocket money every day of the week. She spends $3.20 every day
y from Monday to Friday and saves the rest. She spends $4 a day on Saturdays and
Sundays and saves the rest. How many days does Sophia take to save $47.60 if she

starts saving on a Monday?

Ans: [3]
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11

The figure is made up of two identical big quadlants ‘and two identical small
quadrants The ratio. of the. rad:us of the smail quadrant to the radius of the big

' quadrant is 1: 4. The radius of the big quadrant Is 28 cm.
. Find the penmeter of the fi gure

(Take = = —?—)

Ans: [4]
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12 In the figure below, GBEF is a trapezium and BCDE is a parallelogram.

ABC and AGF are straight lines. LBEDTS five times of Z/CBE. ZFEB is a right angle
and /FAB =76 ' '

(d): Find-2EED.
(b) Find ZAFE.

Ans: (a) 2

B e
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13. é of the people in a hall are girls. The number of boys is % of the number of girls._

" The number of boys is % of the number of men-.Theré are 112 more women than

- girls. How many people are there in the hall?

Ans: 4]
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14. MrRaja bought a computer for $1512 after a discount of 30%. He also bought a

pn_nter ata d;scounted price of $255 The totai dlscount for ihe computer and the

printer was $6_93-

(a) What was the price of the computer before the discount?
{b) What was the percentage discount given for the printer?

Ans: (a)_ _ 21

(b) [2]
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15.  Atfirst, Samy, Meili and Gary shared some postcards in the ratio 15: 8 : 5.

Samy gave % of hls postcards fo Gary wh’le Me:h gave 40% of hers to Gary.

Gary also recewed 190 postcards from his brother. The number of postcards Gary

had in the end was three times what he had at ﬁfsf_ How many postcards dld Samy
and Meili have altogether at first?

Ans: | [4]
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16.

A shopkeeper sold four times as many water bottles as bags. The total amount he

coltected was $4056 He coliected $936 more from the sa!e of the water bottles

‘than from the sale of the bags A water botile cost $18 less than a bag

Find the cost of a bag.

Ans: 5]

]

gy
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17.

The eontainer below is made up of two rectangular tanks, X and Y. They are divided

by a plastic board. The base area of tank Xi is 1400 cm and it contains water up toa

“height-of 8 cm. The base area of tank Y is 1600 cm?and it contams 8000 cm® of water.

A piasti(: board -

(a) What was the height of the water in tank Y at first?
(b) Joan then removed the plastic board completely. What is the height of the water

in the container in the end?

Ans: (a). 1

o) ___ [4]
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18.  Tom used some banners and flags to decorate the school hall. He used two strings of
the same length. He cut the string into equai parts of length 80 cm and fo each par

~ he tied two banners as. shown in Figure 3,

80- cm

frodr
fgemes

Figure 1

After that, he cut the other string info equal lengths-of 1.2 m and to each part he tied

small flags as shown in Figure 2.

1.2m

v v V V V S—

When he finished decorating, he counted 44 more flags than banners.

How many banners were there?

Ans: {51

END OF PAPER
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PAPER ONE
Q.1 Q2 Q3 Q4 Q5 Q6 . Q7 Q8 Q9 Q10
3 2 I 3 3 2 7 2 3 4
Q11 12 = Loi1s 014 Q15 '
g 1 4 4 4
Q16 30675  Q17.22 > 6+==6x==22 " . Q18.4872 Q19.20 > 16+4=20

Q20.10cm3* 2> 1x1x1=1,1x10=10
Q21L.34cm > 8+5-1=12,12x2=24,5x2=10,24+10=34
(22.1640-» 20min 30 min 30 min __30min

1640 1700 1730 1830
Q23.132cm = 546 -150 =396, 396 = 3=132

160

(24.40% > 40-8=32,32: 2= la,fﬁx 100=""=4
Q25. SEE PICTURE

25 ﬂefgn‘&be&owgm14shadzdsq@ras_snade2mesquares{ommplemm

ﬁgxemmmdonedﬁmmka&ndmﬁy_
7]

Q26.16 ¥ 5x5=25,25-8=17,34+17=2,2x8=16
Q27.32cm? -)%x 12x 16 = 96,96 =3 =32
Q28.20° <> 180°-102°=78°,78° = 2 =39°,39°-19° = 20°

Q29-SEE PICTURE 2. The pattem in the box below shows part of a tessellation. Extend the
ressellation by degwing Two more unit shapes in the space provided withio he

box.

030.%$30. 2 4250X4=170,60+50=110,170- 110=60,60:2=3 B

PAGE 1



PAPER TWO

Q1.45 > No. of $2 cupcakes > 80 = 2 =40, FREE > 40 =8 =5, Total > 40 +5=45

Q2.1760ml = 1U -» 110 = 2 =55, No. of units 2 8x4 = 32,32U =3 32x55=1760

Q3.155° > £ C 2 180° —70° + 2 =55 24+ £B 2180° — 80° = 100°,Total = 100° +

G5° =155

Q4.318 2> 20-16=4,9-5=4,1U 2> 8+4=2,90 > 2x9=18

Q5. February - Total - 80 + 120 + 100+100+140=60=600, 20% = 600 xl—z[':%: 120
[—)years old. 2 Don > (15p 3)+4= (ISP- )

Q6b 54yearsold 2> P> (15x5 -3)+4x3=54

g7 -)(A) 1h—)— (A)3h-—)— (B)Y21H -}— (B) 34 -) 3H-) +—— g

Q8.a. 4litre Bb. 15mm => litres of water flown out > 180 - 60 120, 1 min -) 120+30 =4,
{remain ) Minutes = 60+4 = 15.

Q9.137.5km/h = (V)D & 55x5 =275, (C}S & 275+ 2=137.5

Q10.30 > Mto F 2 5x 5= 25,(M>F)S »25- (3.20x 5} = 9, Sat to Sun »5x2 = 10,
(Sat=>Sun)S -» 10-(4x2) =2, Savings per week »2+9=11, sets=>47.6-11=4R3.60,
Remain=3.60-3.20=0.40,4x7 =28,28 + 2 =30

Q11.194cm =2 2 x small quadrants 2 % x(7+7)x ? = 22,2 x big quadraﬁts-)% x (28 +
28))(2—72 = 88,28 — 7 =21,45sides 221 X 4 =84, Total 222 + 88 + 84 = 194.

Q12a.120° ¥ £CBE 180°+ 6 = 30°, £BED 930°x 5 = 150°, £FED 360° — 150° —
90° = 120°

Q12b.44° > £ABG >180° — 90° — 30° = 60°, LAGB>180° — 76° — 60° = 44°,

£BGF 2180° — 44°= 136°, LAFE >180°-136°=44°

(Q13.1088=2> 1U > 112+2=56,3x6 =18, 18U =» 56x 18=1008

Q14a.$2160-> (C) 10% <> 1512:7=216, (€)100%=2>216x10=2160
Q14b. 15% =»(C) Discount =» 2160 x% = 648, (P} =2 Discounts = 693 - 648=45,

(P) Original »45 + 255 = 300, (P) percent discount & == x 100 = 15

Q1511502 150-112= 38, 1U & 190<38=5, (Atfirst) S+ M - 150+80= 230,
230U0-»230x5=1150

(Q16.330 > (4056 +936) = 2 = 2496, 2496 - 936 = 1560, 2496 + 4 = 624, 1560 - 624 = 936,
936+18=52, 1560+52=30.

Q17a.5¢em  Q17b. 6.4cm =2 (Y) H 2 8000 = 1600=5, (X) water =2 8 X 1400 =11200,
Total=»11200 +8000=19200, Total =» 1400+1600= 3000 base area, H»19200:3000=6.4

Q18.66 = 120cm and 80cm first common multiple: -)240 Z 5mng~z 25X2=10,3strings?2x3
= 6, Difference =2 10-6=4, sets>44=:4=11, B-»6x11=66 -

PAGE 2 - THE END



